eS8 [e5@8i Besiess @O
2013 23682 esBxesemcs
B0 yE» oY)

£con




D& BEOD¢uIEE - ©@18s Dgw Bdw
@E3nos/e@8u SennS @D 2013

¥ D82 8 Fwenes (2015 Fendadl - e@xnO@AY)
5
1508¢1500
ECON 53055 gcn galidm Benod e s Eo

O edeSs gdm e¢ns (02) enideon
gd» ®oO (04) BOes B8md; woosim.

€302508 : 08 &. G © @ 03 8.

I emoe - §cs g8m Bew

(a) "8c30cd dcor e 8 €000 omedd ©8H. SPE »o eeiD
BastBud dcor emBe " o8® ©®uwdsdd Bovms Bedoons®nd
Seessim.

(@) "Sedocd Bege, edd ButBo oy 8¢ 8008 enedd gn Acoies B¢
0180 ". 208 YmIes PEHD »HO WD MoK CRE om0 Bensim.

(a) onsiBon »wd gud cOBcm Diho enedd AcLN D BBEE 6210
Bewsim.

(@) "cOBeom mes D8 gduted oo gecidnnd ¢ e »@rond of
OB R Gen glosBe qmbnsied D2 god gennd @DEMOER mibee®
oD ". gewed OB,



03.

05.

07.

2000 Oodig edn DU e BB ger gnd@fmigmed sy c=f
anpiBn Bevdndesed DB sv g8 SRE e Bdusin.

(@) ©end® emdosimn concon 9dd widx ged 20e8 gana ov §id gemnn
G@IDHD OB GIcs SWRE 0 DD,

(@) Gds geo oBesiBe, col® ede quinBomd sv S80c gnwln usBe
ges 8cPO, Hed Qemud 59 el eogPd Agu awide Bgn mdsin.

Il em0e - Guds 8ev

S DEDm CODE 6 uesmcmnSEnd wdidmnag D» 0Dg Bdnd condeda
EdEmD 88m D gimnde emdens’ (=5 w.dbdns O OB s ger yBods
eOvimedt e8un prnoed apende deans ndsis.

BG19¢ gBeedndes Ay yBe.dndes BEAG god D108Eedenm grinlion emides B
ges oS Soig e endecs oEE 0 ¥ YBwdndwd? @idm
uBesBOeO eged Sndsn ©10g Bednd misim.

eDeccemc glidnun eudis ned 08 emBs ¢i8eH esers 0 0 Best
Boed cocmed, sunondd D ©00sided o dg oloemad 8580» DB
1208 20535,

Gidn i OB® B mo A0S B =8dsdecs’ cdBxm 5L em 8Eag
s@eciDnes DIsI5.




DCHic BEDBesce - e@ida Bgs Bl
@S/ e@8s Bepus wrd@ic® 2013
D8 slFuenc (2015 AFenddl - @00 1®Y)

58080
ECON 53065 | OB @80 o DEOMIDIeHH
gam om0 (04) c@am:s B8End; sownsim.
302890 © 07 &. DICS : & 03 8.

2020 ecanm soem C1ed.

e1¢6® (Plan) &1@es0ox (Programme) o OxoweBe (Project) gmd 0dmzn ¢sdnb
PO BHEE @200 piidn LcE®nimedt D Bdedemed Digesin®
e 2bewids BERG Bu@s wozim.

DrenS ©med (Project Cycle) 882 0d¢d eicSccO 088s o8emm»
gBeiNDs god 008 grint eEABAmID wilbivn DrmBur BbreacBe®8c
608600 Do ¢ vsls BRwsin.

"Dpas Boeiosios (Project Sustainability) om cod=Bn gamice ne BEom w8
008 DroveBed B (VGO BOBDIeDD WD §1B WSS ".

Sdencsited 880 . sicBEEO 0885 o8t gmes B DIED.
/



04. A s» B Decasl OmmB eem go®» B8O dds dremecisy eD. Duxnd
@@ qeIE vOD LY (Hdn wY eIRs; JEwO ¢d Bed.

A B

ouSe DxiwaSe
8501 Ot 100,000 100,000
58 88m e b= 05 Bbes 05
008 amIme 8% 8%
g¢d c@® dil8ud c18u¢
1 Desd 50,000 20,000
2 Doo 30,000 20,000
3 Bexd 20,000 30,000
4 Besd 10,000 20,000
5 w0 10,000 40,000

(a@) oo s (3o Bmd Ddevs vow (uEedn gowits i
comdes geas Do egen sulosmd BEAg g10d@ ndxim.

i. BEecg® mic8@:w - Pay - back period
il. ' ®Ed DEBnEIm D8 - N.P.V
ili. ocossindn qoy® gmmBme - LR.R
iv. Db8m o@ims eue® emwime -A.R.R

(ar) OwoB :eds 8d8s pdws dusws’ , BEewl® mic 82000
ednsd ©ld Dine D3mn® BBs aed g8 Digodn®
SOCE oD,



LSh]

4l0n¥s Bdedemedt cbdimn edegoe S ( Market price ) @000
e (Shadow price) iy oxles! 00 ey S ¢? nune g, Bede
e 81 D008 gRLIBD MEBEED 58S ded BEnd s1RE nosim.

oxfewmd

OmoaBime o8ud Sdvdesed? wibn enmedn Bdedus p® OEE o0 obed
Aco® oledaon (EIA) g geab® e» ¢dfag o@E ndsim.

MDD

o8ud glodB edvimed? vBeud Binwernd ¥ sonldm mrwrddn Yeibi®
2OeYgE Bessim.

gBoc wigd eBeuy®ndein wy §©8® (RBME) sdafies B858eER gnowsxs
Degn Boddes! s om0, g8e vum clernum® nime en gd® ogw
grenSn 80098 88gtwn viB an mewidn By 88 L»EE noxy.



DCcBs DB0DsICS - @idn e Bdw
Qe /es@8e Berics w®cd 2013
D8m u8ueme (2015 Aenddl - exnd®ab)
2588 ¢ 0
ECON 53075 80 gltidm Bmd ww Db eod
SO DO €S
gam om0 (04) eRes B8nd vownsim.

S 00D [ 08 8. MEE : s 03 8.

() w©iBe8m atiSmBesed By enednm "e@dEd o @ o "c1@80
a8 m@usm " (willingness to pay and willingness to accept ) a2 SemEodE
oamics poEe wsim ¢Bn dw wdwst geds soEs.

(G 10)

(@) BB abSn 08w oBed § Dz BoEma v emmm SDEHE OB
Bg®0c grewiBnsda Bendin.
(cne 10)

02. R0 2:050 Hoo8ed? «€ombn odsod mbns wePmndeis BEA
o8udeilsied oo wdbdm @bln Benwdsied &5 88ac nemtem Bgwos
L DB,




03.

04.

05.

(e)

(o)

©8e8 ¢088 mfedc; Do (EIA) Sen coes .08 ODE 9:0505
D wydh 9fe® T gymen wedin e®imd ¢ alm »d8n Begs?
@85 vRE »iF>.

(GRg 10)

0018 e®u slenidmed? Sewed edegrome Bla ne O (PDEm
ORID WD o & L ARG ;B Begd etmdi usln oD e¢HID.
(ene 10)

sBos ne@mmdsned? mdn enedm BBD n® owdi wEim evsi: 2 dded
200 D8 wo g8 cvo O LOwBn slons #188s LW EE wdwm.

(g) Bcass
() 856
(@r) Oonzins
(g1) %o ;€

" uBEMmmnma e e elund, % a8 000 emvews’ gt o® emide:
08 meows 8o 05 B8 2o 98 ne eovow . mEO v 2B

8801 (user cost ) eeBIcO 0585 088 gmiee ©@E Bidis.
(e 10)
L¥m 560 ddiens! 0D (04) @S vy Buslm.

i ewg edos
ii. S yelacs ©8s wdos
iii. ogoc @880 o mbuePednd
iv.  oxneq¢s B8O (Transaction cost)
V. Q8o qd® BBE egm edecqeme ezndx Begd
(emietled mBI)

Vi. Bdesss 38Rz
( O eOeswd cRe 05 NB8S.)



zebecs’ ©8o (open access resources ) e®usofsl ewig edoe (common
resources) ©@vs @2siem0 wgpnosiest enetad Bedmd emd GO OCSC

medmmimedt i Bo vi8 eaidn 00g BEAX 20D OB,
(e 20)

Egdned cofd mEoDEm gD IS g coxoBe e HO0
0 CARED tey qbidm Beoosiem coedon SiEdn guinlion Ba gn §B»

(e 20)

U
"=ORm sdegresic ¥ BE "BoRend edbdme! md ceded q® ebme) 00

8880 agd @ ". @00 B0 oed ool dosed eDEEEEDIC noed B

ciuen ei1cS83EO 058 o BHIBTD.
(cmeq 20)




DB F0DmEe - e@ide Bes B
@3S/ @8 DerIos @ 2013
DUEm olFsenn (2015 VFenddb - @200 OY)

30D L0
ECON 53085 Smpsind edece® v edegst gSuss
gE® 0O (04) v B88no svwsim.
0200 | 08 &. DD : &1 03 8.

(¢) goe concdom oo gl obn enl ndes8sf Bmedied medle D8
DB end Lmssins eDeeqd®s §80n guca SWERE e gewe
¢SOsTm.

(g ) "Bonedled mmn ©5¢0® nies condomde emoidonide B 68 HmIed
odn ¢ dgv S8e® vBwD A IO g ". SResim.

Smorsind edege® B8ag cwddl - B85 (H.0) »1w0d ¢0d 0odE egmsl god
gemnins B ©8n edegr®s ¢80 ginca SHEE om0 Bmeded B»rIsd

28 HO »m0 92800 0@ Daewsd Bgy mewB 8 BERD g o,

(g) Hossins eDegg@d a0 O cODE e¢ers B85y E® D emibdmed:
©ston gumdas & a5d ednEm edeeq gnpine Bdehs O giidam B10GE
om0 S@essim.

(@) BBD edeegr gmwid BmEOES NVRE e Hvssind edeeged® D18 -
D8 Byw B wew sl odogg gmuime 88a¢ tavEne ©¢m®
200 Be® abmmnc 0o B gcwdd cxlvxin.



04.

05.

06.

07.

08.

(g) "dmostos edeeed sPasiade nExf 850 eibilm Suldc edeggp®0 vmls
¢ Bede ¢ asdn Soems Oned Diled Hdmen gBfomn wn Benidn
gRBomn o eer tnd Bva " . b niEs.

(q1) oopsins eDege®, oDoeepdd w8 Om» CODE giidn ©.OYAmED
e¥neda un give Bedirmsend Susis.

08098 mdwes (Monopolistic Competition) so8z edeggemc Dxwan Guusen
Dm SEowm poones dimssind edeeqdd BEBeds vyd 188s v y8dom
o8 B0 qevd (PO,

(e) abbs H@édmde (Economic integration) wsls BE0ome o5, 918
Smnadambon B8R g2ud ww @dm JOnd ¢eBs §iBlu v gBBum
88ac Be8ex mosin.

(&) BE8c eDoe® god 880 on yOln SO egm § Comd =@dnsidn (J&
edeee ©acE 08z ¢B8n »iB DB gdi8 BEAD gewdl FHoTIn.

G eDect gRusSen oz RYEGE pgEd, 86y glosBos §uisen Sfees
215380 018 BB i Bo geod (SO,

goman womdioes 8@ 2188c 918 88 SwwEE o0 guBOD
s BED scim odegg w-ddimed glusiBSo FedOmntidnd e ndsim.




& BdoBevicem - w@ide D¢ Bdw
@SB/ 68w Berrus i@ 2013
DB uBFmens (2015 Vfenidl - ©200:89a0)
§5820¢ 0
ECON 53095 ob8m 88
@@ gE» YHOO (04) BT wOLID.
2 e30@300 | 06 &. e : o 03 8.

01.

02.

oon weosl dsies! dbe 24 »O gD et aecda () ¢ Bifn Sdugma (Xi) o
BDses g2B8@ esgm Bue® (X2) wzn BOEE0sIO goE (PBow. 8@ ¢ 998 B0 ,

yi=Bo+Pi Xi+ B Xo+ui on dnesm gBows cbiand mmne wdnecs Beee
DT,

n= 24 ¥ y=9839 Y Xiy = 46208.14

$Xi= 11232 § X7 =5267389 Xy*= 40611.97

¥TXa= 5.34 TXoy= 2181.66  YXiX2=2488.36

X 3 =109

oD ecost Oder! oBewidma, (C) gigwe (y) v OB (L) 2cD g¢co
BSena 05 4 IR gBuvIes oUMOSB.
C=13.391 +0.63258 (Y) +0.45065 (L)

(3.71) (8.32) (4.24)

R?=0.975 n=15 a=5%




QUm @ISYT; 08 20,

(g) oo sgenmis ego nE8s ofter ozm.
(q2) Bog® scgen s Sgdy Hzins 8830sm. (Bo. fiew )

(q1) Bog® sogein oem F o882 mdzls.

L. gebida gBous gmB oslens! 88 g nosest s <?

ii. 880 docwed gebde uBmnm B ewlos e Bmens Sund
DOBIB.

ili. oom fedn emid-Ddce Socised Hhergm oo e1c83c0 osim.
Vim ol K o

@®8 Y = 8$nge (18Bud eved)

L = @® ewcd® (88 )

K = gdam eu¢d® (618ad cvdd)

(g) =08 gumSo ebidw grmiBas DD wedsIm.

(@) oCobmmw ne gwiBed uaB8 g¥d cosdm.

iv. qum (iil) emetd ¢iHedn gmiBe ebdw 900 o6Obmme SSewsl ey
ee@mbd enicind onc: Bdoigs HEBTnend g exemm 20 B9 del
BE (B e enBone neg 8 Sovin. eelve®sin v grBe svm
¢SeDs ©e 8.

Variable Coefficient Std. Error t - value P value
Constant 0.5292 02512 1.9511 0.0577
Labor 0.1810 0.1412 1.2814 0.2173
Capital 0.8827 0.0708 12.4658 0.000




() aqesoedzin ne ©m880c eDewBud ©bSur D5,
(@) otnedsin m¢ ©0®8 gbio B0,
(@) nbDsimed uRnmnnc OC B88aco Sovses P ¢?

(8) T g eondnd v»® micOD BEoem dnde qoifn 960
aiimedsin me B ¢? edn &SOBID.

a5 Bogrws (dummy variables) wz) @@ ¢? ewlor VI
wiBmensl SEmd ndsin.

DrDmBn cledesdct o® BOes digod Dolesd enet ¢?

Bocon Bdecee g (ANOVA models) o eudoco Bdedes gl
(ANCOVA models) gmé e@mes ocdos cqodes wBmess’ Bend odsim.

sodoBn queed etOnosied ;Bn o®ms 08 (W), @gsied
i/ uoeee (D)), ginws 8008 (D2) o0 wegciés (D3) oo ddwsn 8oes
P sOsm sPIsomd ubne 869 wem cbodemcn eldce emiRus
@B gim. ©8 gumBed 88 a» 8Os Si8ui (¢wedEs o> a8
and €f/ghiEmde oon qEedn 88 gow oslon ¢BPo Bocsa (binary
variable) 8.

1, eelome S5
Dii ‘[

0, veed e2eHH®




edonmed g 8008 ' sun Eedn 08l 9908 ocBsl 1 30 ar.

1, ot3omen coBdB8on »®
DZ: "

0, detd e2ed5®

eddnmed ' oggdil; ' ton FPedn 68 8008 el Ui .

1, 90 100 &8 »®
Dsi {

0, et e5ed5®

888 goe Bewidmne Oz =02 @980 emich ozfon ¢ oddmest 526 ecomnnens’
C o ¢do wem anBons B0m ¢ eiBe svn aEed.

W = 4.17 = 2.97D; + 0.80Dz + 0.30Ds
se = (0.099) (0.036) (0.007) (0.005)
R? = 0.441

(g) gmraSed c¢m® ydbe wgon exl.

(@) giedoe®sn m0» @ HPBOE -dmmP6 BEDeBusdn sler mosim.

(@) omifed wu8E0 edenBud 88D 8O vimler po ¢?

(8) gidne®sin ng gl alid csDsis.



i. obAc @b mmB (LPM) ewdes ceuden ednews Bund ndsim.

ii. oon¢Pedn gmiBio s1eBEcO vsis.

Yi=fo+ B iXitui

098, Y = ol ddum B3P, RO o8l déust 88 »®
Y 8 goo 1 ¢ ezndesn® 0 ¢ .

Xi=i om 3g@ved gw® (18ud ¢we)

©e®0BD endd oston c¢ RGP 50 B dune ¢oin eg gR8vne BID
c¢ gl vun (Eeds vl .

7i= 0258 +0.01X;
se = (0.116) (0.001)

R?= 0.531

(@) qoed®sin moo ¢ ©HP80E wdvImdae BdDeResidn «bse
nosim.

() gimedsin ne cuBa qbo ¢Sosis.

(@) =OPvemd FPee® G8ed 80000 = O» 80 e®ddl dous 538e®
2®08m0 Hedinomw WOsID.

(8) ©® gedinonn @B BB ¥ dnw e ? BWHRE .




06.

ii.

Yii= Bio+Bi2 Yo +an X +un
Y2 = Bao+ Bai Y + Ut

oo greSed S@iehe D0D @6 CIBD g0 w8nden sun gl et 9.

(g)

(gd)

(eu)

Yi = 4+8 Xu
Y 2+ 12 Xyt

CoSD gl Benn Idmensl @D QP wpows B »E
w8e?

B8 3.0 € G 8O CRI0TID.

Bi2=029 nE= ¢1» 83ed 58 qum g&d® go» (1) ew (ii) BEao;
ednt driesl ewets ¢?

Bu@ g8icmne efmden B wgm o¢8o ghn® dbe pRs ewmigoBe

amdass 857 ¢?



Faculty of Social Sciences - University of Kelaniya
MA/MSSc¢ Course 2013

MA/MSSc Degree Examination ( October /November 2015)

Economics

ECON 53065 3 (English Medium) - Project Analysis and

Management

Answer any Four (04) questions.

of Questions : 08 Time : 03 hours

The net present value (NPV) internal rate of return (IRR) and profitability index  (PI) methods

are widely employed in project valuation. Identify each of the following statements as true or

false, and explain your answers.

(1)

(i)

(iii)

(iv)

(v)

The IRR method can tend to understate the relative attractiveness of superior investment

projects when the opportunity cost of cash flows is below the IRR.
( 04 marks)
A PI =1 describes a project with an NPV =0. ( 04 marks)

Selection solely according to the NPV criterion will tend to favor larger rather than

smaller investment projects.
( 04 marks)

Use of the PI criterion is especially appropriate for larger firms with easy access to capital
markets.

(04 marks)

NPV. IRR and PI always give investors same conclusion to make their investment
decisions. (04 marks)



[ —

02.

03.

04.

(i)
(ii)
()
(i)
(iii)
(i)
(i)
(iii)

The government is considering building a jogging park. Investment in the facili
costs  Rs. 20 million and annual cost of Rs. 4 million will be needed to provide servi
for next 25 years. If no charge is levied on park visitors.| million peoples are expe:
to use the park each year. If a Rs. 50 charge is imposed , visitors are expected to drop
25,000, The real social discount rate for the economy is 10% . Should the park be bui

Should a visitor charge be levied ? Explain your answer.
(10 marks)

Using relevant examples , explain how to value public goods in cost benefit analysis (C

(10 marks)
What is the purpose of Project Rick Management (PRM) (05 marks)
Using suitable examples, explain two risk identification techniques (10 marks)
What are the main response strategies for negative risks. (05 marks)
What are the key principles of Environmental Impact Assessment? ( 05 marks)
What is the purpose of environmental Impact Assessment? ( 05 marks)

Using a hypothetical project, identify adverse environmental impacts and mitigation

measures.

( 10 marks)



(i)  With an example , examine the important areas that have to be included when preparing a
Cost-Benefit Analysis (CBA). ( 07 marks)
(ii) ‘Although a private firm is interested in conducting only a financial anal'\;sis of a project,
the government goes beyond and conducts an economic analysis as well',
(a) What are the key differences between a financial analysis and an economic
analysis ? (07 marks)
(b)  Why should the government conduct an economic analysis of a project?
(06 marks)
(a)  Explain the different stages of a 'project cycle'. (12 marks)
(b)  'Project cycle management is a theoretical rather than a practical exercise’. Do you agree
on the above statement? Critically examine your answer.
(08 marks)
Explain the following concept with suitable examples. (20 marks)
(a)  Problem tree analysis
(b)  Stakeholder analysis
(¢) Log frame
Werite short following concept with suitable examples. (20 marks)
(a)  Pay Back period
(b)  Net present value
(¢)  Externalities in cost benefit analysis
(d) Shadow price and market price
(e)  Social cost benefit analysis
(f)  Consumer surplus and Producer surplus
(g) Need assessment
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Faculty of Social Sciences - University of Kelaniya

MA/MSSe Course 2013

MA/MSSe Degree Examination ( October /November 2015)

Economics

ECON 53095 (English Medium) - Fconometrics
Answer any Four (04) questions.
Time : 03 hours

No. of Questions : 06

| RETSE

d expenditure on house

¢ (Y) . Gross National Product (X;) an
Using these data compute the

01. Dataon steel sal
) for a 24 years are given as follows :

construction (X2
Y, =Pt BiXa +PaXat 0

Multiple regression line by using matrix method.

e A Sy~ 98.39 Y Xy = 46208.14

sx 2 =567389 Ty = 4061197

X = 11232
YX,= 5.34 yX,y = 218166 IXiXa 2488.36
¥ X 3=1092
|



Consumption ( C ) . Income ( Y ) and liquidity assets ( L. ) estimated data on a multiple
regression line is given as follows,
C= 13.391 +0.63258 ( Y ) + 0.45065 (L )

(3.71) (8.32) (4.24)

R = 0.995 n=15 o= 5%

By using above data.
(a) Do individual hypothesis test
(b)  Construct confidence interval for all coefficients ( u_fiand Ba)

(¢) Dooverall F rest

What do you mean by Non - linear regression models ?

S
(1

ii.  Describe different types of non - linear regression models with appropriate

examples.

iii.  Consider the following Cobb-Douglas type production function.
Y, = B[)L?l KIBZ el
Where , Y = output (thousands of rupees)

L. = labor input (man-days)

K = capital input (thousands of rupces)

(a)  Transform this model into a linear model.

(b) Interpret the parameters of the transformed model




v,

ii.

Suppose that the model given in ( iii ) was transformed and litted for the data

collected from randomly selected 20 firms belong to a certain manufacturing

industry. The results are as follows:

Variable  Coefficient Std. Error t- value P value T
Constant 0.5292 0.2512 1.9511 0.0577
Labor 0.1810 0.1412 1.2814 02173 |
Capital 0.8827 0.0708 12,4658 0.000

(a) Test the significance of the estimated parameters.

(b). Interpret the estimated parameters.

(¢) What can you say about the 'return to scale’ of the industry ?

(d) Based on the given information. can you estimate the marginal

productivity of the factors of production ? Why ?

What are the 'dummy variables '? Explain with suitable examples.

How these variables are important in applicd researches ?

Describe the difference between the ANOVA models and ANCOVA models
with appropriate examples.




iv.

A researcher formulated a linear model to examine the relationship ol monthly
average wage (W) of private sector workers with three independent variables
namely. Gender (D) . level of education (D;) and experience (D3) . Wage was
measured in rupees (thousands) . Gender is a binary variable which takes the
values as:

1, if female
Dy = J

0. otherwise
Level of education was measured at two levels as follows:

1. if more than 10 years

o
>y
]

0. otherwise

The model was fitted for the data collected from 326 workers selected randomly
form different sectors. The estimated model is as follows:

W = 4.17 = 2.97D; + 0.80D, + 0.30D;
se = (0.099) (0.036) (0.007) (0.005)
R* = 0.441

(a) Identify the base categories of the model.
(b) Test the statistical reliability of individual parameters.
(¢) What can you say about the overall significance of the estimated model ?

(d) Interpret the estimated model.




05. i.  Describe Linear Probability Models (LPM) with appropriate examples ?

il.  Consider the following model :

Y| = Bo+ P uiXi+uy

Where. Y = ownership of a motor vehicle. The value of Y is 1. if the houschold own a

motor vehicle. 0 otherwise.

X, = income of the i" houschold (measured thousands of rupees)

The model fitted for the data collected randomly from 50 households is as follows:

7i= 0258+ 0.01 X;
se = (0.116) (0.001)

(a)  Testthe statistical reliability of the estimated parameters,

(b) interpret the results.

{¢) Forecast the probability of having a motor vehicle when a household's income is
80.000.

(d) Isthis forecast agree with the probability theory ? Explain.




06.

i The model

Yi= Bip+t Bz Yo+ an Xy +uy

Ya - Bay+ Bay Yo + Uy

The estimated reduced - form equations of the above model are as follows.

Y][ == 4+8 Xll

= 212X

b
|

(a) Which structural coefficients can be estimated from the reduced - form
coefficients ?

(b) Obrain the values of those structural para meters.

(¢) How does the answer to questions (i) and ( ii ) change if it is known a
priori that B;1=07?

ii. Why is it unnecessary to apply the two - stage least squares method to exactly
identified equations ?




